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22407 12142 3,000 0 3,000
< DEBHD > 3,000 0 3,000
OHISE X 2 WAZE 242

250,000 122 3,000

205 Xt £ 49 645,000 696,000 ~51,000

22501 XItHA £ 49 645,000 69,000 £51,000

< DEBHD > 645,000 696,000 £51,000

OXNHEE FHZ 918 DEHE 42

53,750,002+ 1224 645,000

230 NYBFHM - 222 1,620,000 1,623,000 23,000

234 DEH2 1,620,000 1,623,000 3,000

234-01 XIS RIRIDENZ 1,620,000 1,623,000 3,000

< DEBHD > 1,620,000 1,623,000 3,000
OFHI 918 DEHE 42 135,000, 00024 * 1224 1,620,000

50 BE3 552,000 56,000 496,000

520 Al - CHIRE2S 562,000 56,000 496,000

521 Al - CHEE3S 552,000 56,000 496,000

521-01 Al - CHIZX3S 562,000 56,000 496,000

< DEHHD > 562,000 56,000 496,000
OUEONY FXE TEOHSED) A 42,000
OS2E +U 2LFHE 510,000

700 BEAASULYEIeH 50,000 3,700,000|  A3,650,000

710 BRAUS 50,000 3,700,000|  A3,650,000

711 QoI 50,000 3,700,000|  ~3,650,000

711-01 =HIHL 012 50,000 3,700,000|  £3,650,000

< DEBHD > 50,000 3,700,000| 43,650,000
O=MHLNZ 50,000




